I BRFEAKEREE

B1H220V =1E220V
Size B Size B
ES2-04BFI ES2-08BFI ES2-10BFI ES2-15BFI ES2-30BFI

ASMJ-06-02308 ASMD-06-06308

ASMJ-06-0430B ASMJ-09-0830B

ASMJ-08-0830B

ASMJ-08-1025B

ASMJ-09-10258B

ASMJ-11-12308

ASMJ-11-1530B

ASMJ-11-1830B

ASMJ-13-1025B

ASMH-13-1010B

ASMJ-13-1515B

ASMJ-13-1525B

ASMJ-13-20258

ASMH-13-2315B

ASMJ-13-2625B

I B asn

ASMJ -08-10 25

ASMD: /MRE. NEE
ASMJ: KiRE. FNEE
ASMH: BiRE. 88
30: 3KW

06 : 60mm. 08 :80mm
09:86mm. 11:110mm
13:130mm

1 200W. 04 :400W
08:750W. 10 : 1KW
15:1.6KW, 20: 2KW

B -U

3 2

(mewin) (eEsn) GrExD)(@aesd)@E an)(atFs)

B: 220V 3:
10 : 1000 rpm U: 25004
15: 1500 rpm
25:2500 rpm
30:3000 rpm

e
THIRLHL

2: imE

1: Ver. 1

S: SEJ5I

4 hEt+HERs

I Bil=%

sy |MERL | MERE | BISX | ERR | BHEX | IEHE | SRR | KrE | BE | _
2555 Ehi) MIRE BEIRE
S - o . BES
(KW) | (Nm) | (Nm) | (Arms) | (Arms) | (min™") | (min~') |(10*Kgm?)| (V)
BOHLEE
ASMJ-06-0230B-U321 0.2 0.64 1.92 17 5.1 3000 5000 0.42 220 |ES2-04BFI
ASMJ-06-0430B-U321 0.4 1.27 3.81 28 8.4 3000 5000 0.68 220 |ES2-04BFI
ASMJ-06-0430B-U341 0.4 1.27 3.81 2.8 8.4 3000 5000 0.70 220 |ES2-04BFI
ASMD-06-0630B-U321-M| 0.6 1.91 5.30 35 10.5 3000 5000 0.40 220 |ES2-08BFI
8OHLEE
ASMJ-08-0830B-U321 0.75 239 747 45 13.5 3000 4500 153 220 |ES2-10BFI
ASMJ-08-0830B-U341 0.75 2.39 7.7 4.5 135 3000 4500 1.59 220 |ES2-10BFI
ASMJ-08-10258-U321 1.0 4.0 12.0 4.4 13.2 2500 3000 2.97 220 |ES2-10BFI
ASMJ-08-1025B-U341 1.0 4.0 12.0 4.4 13.2 2500 3000 2.97 220 |ES2-10BFI
9OH/LEE
ASMJ-09-0830B-U321 0.75 24 7.1 3.0 9.0 3000 3900 245 220 |ES2-08BFI
ASMJ-09-0830B-U341 0.75 24 7. 3.0 9.0 3000 3900 245 220 |ES2-08BFI
ASMJ-09-1025B-U321 1.0 4.0 12,0 4.0 12,0 2500 3300 3.7 220 |ES2-108FI
ASMJ-09-1025B-U341 1.0 4.0 12.0 4.0 12.0 2500 3300 3.7 220 |ES2-10BFI
11041EE
ASMJ-11-1230B-U321 12 4.0 12.0 5.0 15.0 3000 3500 5.4 220 |ES2-158FI
ASMJ-11-1530B-U321 15 5.0 15.0 6.0 18.0 3000 3100 6.3 220 |ES2-158FI
ASMJ-11-1830B-U321 1.8 6.0 18.0 6.0 18.0 3000 3200 7.6 220 |ES2-15BFI
ASMJ-11-1830B-U341 1.8 6.0 18.0 6.0 18.0 3000 3200 76 220 |ES2-15BFI
13048
ASMJ-13-1025B-U321 1.0 4.0 12.0 4.0 12.0 2500 2600 8.5 220 |ES2-15BFI
ASMJ-13-1525B-U321 1.5 6.0 18.0 6.0 18.0 2500 2900 12.6 220 |ES2-15BFI
ASMJ-13-1525B-U341 1.5 6.0 18.0 6.0 18.0 2500 2900 12.6 220 |ES2-158FI
ASMJ-13-2025B-U321 2.0 7.7 22 75 225 2500 2700 | 153 220 |ES2-308FI
ASMJ-13-2025B-U341 2.0 7.7 22 75 225 2500 2700 | 153 220 |ES2-308FI
ASMJ-13-2625B-U321 26 10 25 10 25 2500 2700 19.4 220 |ES2-308FI
ASMJ-13-2625B-U341 26 10 25 10 25 2500 2700 19.4 220 |ES2-30BFI
ASMH-13-1010B-U321 1.0 10.0 20.0 45 9.0 1000 1300 19.4 220 |ES2-15BFI
ASMH-13-1010B-U341 1.0 10.0 20.0 4.5 9.0 1000 1300 19.4 220 |ES2-15BFI
ASMH-13-15158-U321 1.5 10.0 25.0 6.0 15.0 1500 1800 19.4 220 |ES2-158FI
ASMH-13-15158-U341 15 10.0 25.0 6.0 15.0 1500 1800 19.4 220 |ES2-158FI
ASMH-13-23158-U321 23 15.0 30 .0 95 19.0 1500 1700 277 220 |ES2-308FI




—_1] —

I 60mmuL B EIRRNE K232

#RT

I SOmMmMILEBNEIRMIBREZERT

LB h7

24 HNEES RIDERAES
‘=. RS _ _
=S (#7#e3m ) (47%e3m )
ASMJ-06-0230B-U321 ES2-04BFI P1-AS1-03P08M E1-AS1-03UM
ASMJ-06-0430B-U321 ES2-04BFI P1-AS1-03P08M E1-AS1-03UM
ASMJ-06-0430B-U341 ES2-04BFI P5-AS1-03P08M E1-AS1-03UM
ASMD-06-06308-U321-M ES2-08BFI P1-AS1-03P08M E1-AS1-03UM
8 2
= : ooy ) :
g = G-G

28 HH&KES fRIDES AL S
e WaNFERS _ _
oS (#7EE3m ) (#5Fe3m )
ASMJ-08-0830B-U321 ES2-10BFI P1-AS1-03P08M E1-AS1-03UM
ASMJ-08-0830B-U341 ES2-10BFI P5-AS1-03P08M E1-AS1-03UM
ASMJ-08-1025B-U321 ES2-10BFI P1-AS1-03P08M E1-AS1-03UM
ASMJ-08-1025B-U341 ES2-10BFI P5-AS1-03P08M E1-AS1-03UM
GG
LY i
G- =]
=1
G Le
RH
LE
LR
I
BZ. P1-AS1-XXP08M BS. E1-AST-XXUM

XX 50

S, P5-AS1-XXP08M

i &ETNE, XX=05. 08. 10

AS. P1-AS1-XXPO8M BS, E1-AS1-XXUM
BS. P5-AS1-XXP0O8M
i EMIRETE, XX=05. 08. 10
s IC| LZ|LA| S |LB|LL |[LR|LE|LG|LW|RH| W T P
ASMJ-06-0230B-U321 | 60 | 55 | 70 | 14 | 50 | 112 | 30 | 3 | 7 [165| 11 | 5 | 5 |M5x8
ASMJ-06-0430B-U321 | 60 | 55 | 70 | 14 | 50 | 134 | 30 | 3 | 7 [165| 11 | 5 | 5 |M5x8
ASMJ-06-0430B-U341 | 60 | 55 | 70 | 14 | 50 | 166 | 30 | 3 | 7 [165| 11 | 5 | 5 |M5x8
ASMD-06-0630B-U321-M| 60 | 55 | 70 | 14 | 50 | 169 | 30 | 3 | 10 [205| 11 | & | 5 -

s LC LZ | LA S LB LL | LR | LE | LG | LW | RH | W T TP
ASMJ-08-0830B-U321 | 80 6.5 | 90 19 | 70 |1422| 35 3 8 25 | 155| 6 6 [M6x10
ASMJ-08-0830B-U341 | 80 6.5 | 90 19 70 175 | 35 3 8 25 | 155 | 6 6 [M6x10
ASMJ-08-1025B-U321| 80 6 90 19 70 191 35 3 8 25 | 155| 6 6 |M6x10
ASMJ-08-1025B-U341| 80 6 90 19 | 70 | 231 35 3 8 25 | 155| 6 6 |[M6x10




I SOmmILEBNEIRMIBREZERT

I MOmmILEBNEIRMBREERT

BLA A (

LL

LG

LR

Xx£50

BS,

P1-AS1-XXP0O8M

S,

P5-AS1-XXP0O8M

24 MHEES RIBEREES
RaRES
RS (#7E23m) (#REE3m )
ASMJ-09-0830B-U321 ES2-08BFI P1-AS1-03P08M E1-AS1-03UM
ASMJ-09-0830B-U341 ES2-08BFI| P5-AS1-03P08M E1-AS1-03UM
ASMJ-09-1025B-U321 ES2-10BFI P1-AS1-03P08M E1-AS1-03UM
ASMJ-09-1025B-U341 ES2-10BFI P5-AS1-03P08M E1-AS1-03UM
4-9L7Z
N
i GG
3 TP
G~ N j
I=FF |
G-
RH T

X030

S E1-AS1-XXUM

i EMKETE, XX=05. 08. 10

2% HPKES IRIDESAES
= IREEEIS
s (#mEe3m) (#REe3m)

ASMJ-11-1230B-U321 ES2-15BFI P2-AS1-03P15F E2-AS1-03UM
ASMJ-11-1530B-U321 ES2-15BFI P2-AS1-03P15F E2-AS1-03UM
ASMJ-11-1830B-U321 ES2-15BFI P2-AS1-03P15F E2-AS1-03UM
ASMJ-11-1830B-U341 ES2-15BFI P2-AS1-03P15F E2-AS1-03UM

4-9LZ

N -

’ M 66
: LI
P 2.5
X \
. 2 | y g -
) i | I 2 = =
e -
PLA ~
LE
LG
LL LR
i 4
=
xxam xam
RS, P2-AS1-XXP15F. P2-AS1-XXP30F S, E2-AS1-XXUM

. BAFKETIE, XX=05. 08, 10

s LC | LZ | LA S LB | LL | LR [ LE | LG | LW | RH | W T TP
ASMJ-09-0830B-U321 | 86.6 | 6.5 | 100 | 16 80 | 150 35 3 8 25 13 5 5 |M5x22
ASMJ-09-0830B-U341 | 86.6 | 6.5 | 100 | 16 80 | 198 | 35 3 8 25 13 5 5 |M5x22
ASMJ-09-1025B-U321 | 86.6 | 6.5 | 100 | 16 80 182 35 3 8 25 13 5 5 |M5x22
ASMJ-09-1025B-U341 | 86.6 | 6.5 | 100 | 16 80 | 230 35 3 8 25 13 5 5 |M5x22

Bs LC | LZ | LA S LB | LL | LR|LE |LG|LW|RH| W T TP
ASMJ-11-1230B-U321 [111.2| 9 130 19 | 95 | 189 | 55 5 12 40 | 1565 6 6 |M6x25
ASMJ-11-1630B-U321 [111.2| 9 130 19 | 95 | 204 | 55 5 12 40 | 1565 6 6 |M6x25
ASMJ-11-1830B-U321 [111.2| 9 130 19 95 | 219 | 55 5 12 40 | 155 6 6 |M6x25
ASMJ-11-1830B-U341 [111.2| 9 130 19 95 | 293 | 55 5 12 40 | 155 6 6 |M6x25

— 14 —



1 130mmyLEEEE BRI R 2R

2 _ MH&ES RIS ELELS
us s (F8eam) (#7823m)
ASMJ-13-1025B-U321 ES2-15BFI P2-AS1-03P15F E2-AS1-03UM
ASMJ-13-1525B-U321 ES2-15BFI| P2-AS1-03P15F E2-AS1-03UM
ASMJ-13-1525B-U341 ES2-15BFI P2-AS1-03P15F E2-AS1-03UM
ASMJ-13-2025B-U321 ES2-30BFI P2-AS1-03P30F E2-AS1-03UM
ASMJ-13-2025B-U341 ES2-30BFI P2-AS1-03P30F E2-AS1-03UM
ASMJ-13-2625B-U321 ES2-30BFI P2-AS1-03P30F E2-AS1-03UM
ASMJ-13-2625B-U341 ES2-30BFI P2-AS1-03P30F E2-AS1-03UM

LW

G-

[

LB h7

LL LR

10

XX £20.

G-G
g
A
RH _| T

Xx:£20

=

RS, P2-AS1-XXP15F. P2-AS1-XXP30F RIS, E2-AST-XXUM

. SR, XX=05. 08, 10

Eidi=s LC | LZ | LA S LB | LL | LR | LE | LG | LW | RH | W T TP
ASMJ-13-1025B-U321 | 131 | 9 [ 145 | 22 | 110 | 166 | 57 | 5 | 14 | 40 |185| 6 | 6 [M6x22
ASMJ-13-1525B-U321 | 131 | 9 [ 145 | 22 | 110 | 179 | 57 | 5 | 14 | 40 |185| 6 | 6 [M6x22
ASMJ-13-1525B-U341 | 131 | 9 [ 145 | 22 | 110 | 236 | 57 | 5 | 14 | 40 |185| 6 | 6 |M6x22
ASMJ-13-2025B-U321 | 131 | 9 [ 145 | 22 | 110 [ 192 | 57 | 5 | 14 | 40 |185| 6 | 6 M6x22
ASMJ-13-2025B-U341 | 131 | 9 [ 145 | 22 | 110 | 249 | 57 | 5 | 14 | 40 [185| 6 | 6 M6x22
ASMJ-13-2625B-U321 | 131 | 9 [ 145 | 22 | 110 | 209 | 57 | 5 | 14 | 40 |185| 6 | 6 M6x22
ASMJ-13-2625B-U341 [ 131 | 9 | 145 | 22 | 110 | 290 | 57 | 5 | 14 | 40 |185| 6 | 6 M6x22

1 130mmLEEB RIS K2 52

ERT

25 MhsRS ety I
IREEES _ =
s ( #7#e3m ) ( #7EE3m )
ASMH-13-1010B-U321 ES2-15BFI P2-AS1-03P15F E2-AS1-03UM
ASMH-13-1010B-U341 ES2-15BFI P2-AS1-03P15F E2-AS1-03UM
ASMH-13-1515B-U321 ES2-15BFI P2-AS1-03P15F E2-AS1-03UM
ASMH-13-1515B-U341 ES2-15BFI P2-AS1-03P15F E2-AS1-03UM
ASMH-13-2315B-U321 ES2-30BFI P2-AS1-03P30F E2-AS1-03UM

LW

Gr-

G L

LB h7

LL

LR

+20

GG
TP
A
RH I

Xx20

S, P2-AS1-XXP15F, P2-AS1-XXP30F S, E2-AS1-XXUM
i EMKETIE, XX=05. 08, 10
RS LC | LZ | LA S LB | LL [ LR | LE | LG | LW | RH | W T TP
ASMH-13-1010B-U321 | 131 9 145 | 22 | 110 | 2183 | 57 5 14 40 | 185 6 6 |M6x22
ASMH-13-1010B-U341 | 131 9 145 | 22 | 110 | 294 | 57 5 14 40 [ 185| 6 6  [M6x22
ASMH-13-1515B-U321 | 131 9 145 | 22 | 110 | 213 | 57 5 14 40 | 185 6 6 [M6x22
ASMH-13-1515B-U341 | 131 9 145 | 22 | 110 | 294 | 57 5 14 40 | 185 | 6 6 |M6x22
ASMH-13-2315B-U321 | 131 9 145 | 22 | 110 | 241 57 5 14 40 [185| 6 6 |M6x22




—17 —

1 BAFBREELS

IRIDER LB N R E B

» F4E
EAOER| HARGRS | 48 Bt BB i S ]
DBEEHEKEEINS | 1 % (SR SIRENEE
— ) & Z R R
AMP-172161-1 | 1 OPIEEEEIER E1-AS1-03UM
B AMP-170361-1 | 10 SEIHT
S )!_!_LLL 40. 60. 80, 90
AMP-316454-1 | 2 OPHEERERENY
AMP-172159-1 | 1 AP
AMP-170362-1 | 8 s LEHT P5-AS1-03P08M
L P1-AS1-03P08M
AMP-172157-1 | 1 PR
DBEEHRKEEIIMS | 1 B SIThE 110, 130
& = ISR THERL
DBEE-9P 1 E2-AS1-03UM |3, 15IZEREE
SA-C2 - BIEREERN L
YD28K15TS-E 1 ” fRRS RS LA S TSk ;
2NELETEFE
YD28KATS-E 1 o 51 AR P2-AS1-03P15F | #l;
&L
Liac]liloaxil SRR R IMYE
4 PinfEiE#
40. 60. 80, 90
S ESBR A==
o}
* :
2 v 855, AMP-172159-1 [ﬂ] DD
3 ®F. AMP-170362-1
==
4 PE
4 Pinflizsiiisk
110, 130
HIHS ESER
1 PE
2 u AastEsk:
5 Y YD28KATS-E
4 w
4 Pinflizsisk
130 -NZ51
S ESER
1 PE
2 u Anzsisk:
5 v HM23-4-P
4 w

D] 1l va¥iis) SRR R IMYE
9 PinfEF
40. 60. 80. 90
s 25004455 17. 23BitfES
3 A+ —
6 A- —
2 B+ SD+
5 B- SD-
#85%5. AMP-172161-1
1 Z+ BAT+ .
#F: AMP-170361-1
4 z- BAT-
9 +5V +5V
8 GND GND
7 PE PE
15 PinfinzstEsk
110, 130
s 25004455 17. 23BitfES
2 +5V +5V
3 GND GND
4 A+ —
! i . mEE.
5 B+ SD+ YD28K15TS-E
8 B- SD-
6 Z+ BAT+
9 z- BAT-
1 PE PE
4 PinflizstEsk
130 -NZ5|
S ESER
4 SD-
6 SD+ FESsk:
s ov HM23-7-P
7 +5V
2 Pinf&at
v s 40. 60. 80. 90
S SSRR
1 | 2|@0] 1
#85%5. AMP-172157-1
2 BK- i#F: AMP-170362-1 %
2 Pinfsta4
130 -NZ5I
HiS ESER
1 BK+
HM23-2-P
2 BK-




